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subject to

Z = CX
Ax<h
x>0

(objective function)
(constraints)
(decision variables)
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maximize z=0.4x1+03x2 (profit)

subject to x1+x2 <400 (material)
2x1+x2= 500 (labor hours)
x1, x22 0

-

labor hours constraint

00
S\ Optimal Solution (100, 300)

400 / 2#=130

z(x)

/ material constraint
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h Fuzzy-LP

2. Fuzzy A& (with b; and p; given)

max zZ = EX
s.t. (Ax); < by
x> 0
Ol= Ct=2| parametric LP (Verdegay) 2t S<
max Z =CX

s.t. (Ax); <b;+@p;
0 <[0,1] and x<0

h Fuzzy-LP

3. Fuzzy A+& 1t = H (without b, and p, given)
b, : goal of objective function
p, : tolerance of b,

max 7 =cx
s.t. (Ax); <b,; +@p;

0 €[0,1] and x=0

z° = max cX
s.t. (AX), =<b,, x=0
z' = max cX

s.t. (AX), =b,+p;,, x=0
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max{min[ze,(X), £, (X), ..., g1 (X)1}

min

s.t.

cx > z8-0(z%-29)
(AX); <b; +0p, V;
Oe [0,1]and x>0




h Fuzzy-LP

4. Fuzzy AH& 1t = H (with b, and p, given)

min 0
s.t. cx=b,—6p,
(AX); <b;+6p, ¥
0e [0,1]and x>0

0 z° bsp, b, 2z X
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h Fuzzy LP & GIS

1. 8S & LP:

maximize  z = 200x, + 250x, + 300x;
subjectto  x; + X, + X <180,000
170x, + 200x, +250x;  <20,000,000
Xy > 30000

X1, Xp, and X3 >0

(018)
OreeiR)
(Z&H)

CES=)

X «J2H=" 180,000has GISOIA AEE, 2t ZHS OrEGtE HE
sSHe gt z2= 2 24,600,000
Bt Fuzzy st NHEXHE SOHMHOF E S, 28 HZ .
h Fuzzy LP & GIS
2. Fuzzy 221 S Jt&l Fuzzy LP:
maximize  z = 200x, + 250x, + 300X, 0l2)
subject to X, + X, + Xg  <104500+ 10000 Or88R)
170x, + 200x, + 250x;  <20,000,000 + 3,000,0000 (=4Hl)
Xq > 30000 - 2000 (B=X9)
Xy, X, and x3 >0
AN AEE I
0 z rg2eA Epal.l] AKXl
0.0 24,625,000.0 104500.0 20,000,000.0 30000.0
0.1 24,930,400.0 104600.0 20,300,000.0 29980.0
0.2 25,235,800.0. 104700.0 20,600,000.0 29960.0
0.3 25,541,200.0 104800.0 20,900,000.0 29940.0
0.4 25,846,608.0 104900.0 21,200,008.0 29920.0
'1.0 é7,679,010.0 1'05500.0 éS,OO0,00S.O :29800.0
Otor IHAl |SHS 200 & B, 3&H=Z &




Fuzzy LP & GIS

1 =
3. Fuzzy=2d & S HE Jt& Fuzzy-LP
Ho, :
1 (without b, and p,)
0
24,680t 2778012 z
min 0
st. = 200x, + 250x, + 300x, > 27,679,010.0-3,054,0100 (°] )
9;(X) = X, + X, + X3 < 104000 + 10000 (H&wA)
9,(X) = 170x, + 200x, + 250x, < 20,000,000 + 3000 (3~ H])
9:(¥) = X > 30000 - 2000 (F5A9)
X1, X, and X3 >0and 6e [0,1] >0

Fuzzy LP & GIS

4. FuzzyZd & S HE Jt& Fuzzy-LP

(with bo and po)
S A ALE S AP

Po 0 z 7R 24 AA
0 0.55 25,846,608.0 96191.8 21,639204.0 30109.3
2443216 051 25,721,596.0 95772.8 21,535004.0 30102.3
488643.2 0.48 25,611,528.0 95403.8 21,443260.0 30096.2
977286.5 0.43 25,426,650.0 94784.1 21289162.0 30085.9
1221608.1 0.41 25,348,264.0 94521.4 21223826.0 30081.6

whef of Hlo] Lol A py7t 488643.291 74 -4-5 A A = B3-S A5, vl slE 2A "k

¢

VARIABLES VALUES
X1 30096.215
X3 65307.617

RESOURCES ACTUALLY USED:
> THE AMOUNT OF 1th RESOURCE USED : 95403.828
> THE AMOUNT OF 2th RESOURCE USED : 21443260.000
> THE AMOUNT OF 3th RESOURCE USED : 30096.215
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